EARAROBREBRT —5 XN—ZXBISH—F

202268128 (B) 40HR4H

E¥s>%3%r 1BIS2 8

‘(fﬁ} W ‘I%EH?’JF&] ~ | & 10000 =

[~E%] 17%&:7,700,000 § ~ 23:3,100,000 .~ 37 :1,900,000 437%&:1,200,000 5 3&:770,000

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
. SV e el : -6-2- MAE (FEF)

118113 9/ RLYY Y RO H 5 == 2.((5)).6 6-6-2-2 | 38.3| 94.5| 6 (5J342) WAL S

RIEVFOVY B:XA4F)LO—R pd2e]
BEXEF :00. -3-6- . . WKEE (FR)

) 5 | LA XA 4 3 e (21010/4% 3-3-66 | 37.8] 92.7 | 10 (4_1:3) |§7ﬁ£

RiYT709— B:ILLE—R et YYF—elR
— — P 00, 1086 | 3.7 91, ATEBS (FH)

3811 IS5y FHUS— H 3 4t 2(3021)9 11-10-8-6 | 37.7| 91.8 | 3 z:g;) ;?%gﬁﬁ
R:VvRIDIA B8:4vay Kt BE
= S 4 4 | BEHXT 2:01.1 3-3-3-3 | 38.6| 90.1 8 506 | IR0 (BRR)

4 04 9 =) KRR A54.0 (1 1/4) (-8) IKLLIBSE
RiIAR—=KT7IVAY B:VIAFIFT BREM B)IBUS
== Y 4 | NNRAIZ 2:01.2 2-2-3-4 |38.7]89.3| 5 | 490 |/JWEH RR)

s 4| SATU—D 1 [B] 7250 e oy | B HEL—ZK—2
RiIvRIVIA BITIY—NADzA #HE77—LA

Q 3 | JIERE 2:01.2 9-10-12-11 [ 37.6 | 89.2 | 1 472 | BEBX (FR)

6 7| ¥UzF0O—K " 54.0 (79%) -2) Y

RiFIVYTSwT B:PIRIUFTY IS
EYI% > 3 | AAWELF 2:01.4 7-7-9-9 |38.0| 87.4 | 2 470 | KRIRER (FH)
i - e g 4.0 & Lo | B 5972
R:Kitten’s Joy B:¥aATILET ~U— #HEIT7—L
<, s 4 | EORN 2:01.4 11-12-13-13| 37.5 | 87.4 | 12 | 466 |MALE (R=N)
sl 5| @o0r>7 57.0° b W) | Sies
RiRIT«4 BEVIVwvVINY e
S~ BRES :01. -12-11- . . AHEE (FEFR)
9/8|12|FVYYIRTU "3 540 2(/?17-;1 N9 37.9) 7.4 19 (ﬁg) WreE—
R:T=ILRYY T B:DRUFTY FREYS
< IR+ : -9-1- BREE (FR)
wlzlol TAB177 v b0 44 R (37.(2% 10-9-1-1 [39.2| 87.7 | M (5_028) iy
R:FRAF B:4vAT=—hH BRI 7—L
= 3= _ 3 3 | BHR 2:01.6 7-7-5-4 39.0| 85.9 | 7 | 480 |AE—R (ER)

1 g| TAILYZRY 54.0 (3/4) () |MEE#

RIVZIAI—ZZRI— B —I—LAVR— ERKS
S~ 3 | BHZER 2:02.6 3-366 | 39.6]77.9 | 4 | 500 |FBR ER)

121516 |8 /2Y7a—Fv— " 54.0 ©) 6 | @R FI/vIR
RiRSAYF B:ERELVYFAET« /=3I r—I

= s, S 4 | MEAKE 2:03.2 1-1-9-12 [39.8| 73.1 | 13 | 480 |FRARE (ER)

1311 |PY31RY RS2 IR A G5 Co |
RVURUIURIR B:\vE—h—7T aiutle]

[ BN

Eh' 51.1-38.4

NOYSI AL |7.3-11.5-12.0-13.8-13.2-11.7-12.7-12.6-12.6-13.2

@ 11— —BBIEfI

13—7— (*1,4)-(6,2,9)13(3,8)7,10(5,11)-12

20—F— (x1,4) (6,2,9)13(3,8)10(7,11) (5,12)

BEI=r= (x10,13) (4,9)8-(2,6)11(1,3)12,7,5

43— — (+10,13)9(4,8) (2,6,11) (3,12)7,1,5

o ILRE

B B 13 1,440 JA R 2-13 4,920M & 2-8 7,400 3EE 2-11-13 39,180M4

g B 13 290M 11-13 1,410 5 & 2-13 19,670 3EH 13-2-11 253,000/

2 8204 2-11 2,260M =51 13-2 33,8904
I 2304

ABIC OV TRUTEREERRODDZE. THRIIZEL.




